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Домашнее задание (Группа 220401)
Составить уравнения ОВР методом электронно-ионного баланса

FeS04 + ШОз + H2S04 = Fe2(S04)3 + h  + ...

KJ + KNO3 + НС1 = h  + N 02 + ...

Mn02 + КСЮз + КОН = Mn042- + СГ + ...

н е ю  + S02 + H20  = С Г + SO42"

FeS04 + HNO3 + H2S04 = Fe2(S04) 3 + NO + ...

KCr02 + Br2 + KOH = K2Cr04 + KBr + ...

H2S + KMn04 + HC1 = S + Mn2+ + ...

Hg + KNO3 + H2S04 = HgS04 + NO + ...

SO2 + НСЮз + H20  = H2S04 + HC1

Cu20  + HNO3 = Cu2+ + N 02 + ...

KMn04 + K2S + H2S04 = MnS04 + s + ...
Cr2(S04)3 + Pb02 + KOH = Cr042~ + Pb022“ +...

KN02 + KJ + H2S04 = NO + J2 + ...

KMn04 + K2S0 3  + KOH = K2Mn04 + K2S04 + ...

Cr03 + HC1 = CrCl3 + Cl2 + ...

KN02 + Pb02 + HC1 = N 03~ + Pb2+ + ...

KMn04 + HBr = MnBr2 + Br2 + ...

CrCl3 + КСЮ3 + KOH = K2Cr04 + KC1 + ...

CrCl3 + NaCIO + NaOH = Cr042- + Cl" + ...

Pb02 + HC1 = PbCl2 + Cl2 + ...

Hg + NaN03 + H2S04 = Hg2+ + NO + ...

Билет 8 Pb + NaNOs + NaOH = N 02 + Pb022 + .

Mn02 + NaJ + H2S 0 4 = MnS04 + J2 + ... 

Mg + HNO3 = Mg(N03) 2 + NO + ...



Билет 9
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Мп02 + NaC103 + NaOH = Mn042- + СГ + 

J2 + Cl2 + Н20  = Ш 0 3 + НС1 + ...

КВгОз + K2S 0 3 + H2S04 = Br2 + S0 42'  + ..

K2Cr20 7 + Na2S0 3 + H2S04 = S042' + Cr3+ + . 

KMn04 + K2S + H20  = Mn02 + S + ...

Br2 + Cl2 + H20  = HBr03 + HC1 + ...

NaBr + Mn02 + H2S04 = Mn2+ + Br2 + ... 

Cr2(S0 4)3 + Br2 + NaOH = Na2Cr04 + NaBr 

NaBr + KMn04 + H20  = Br2 + Mn02 + .....

HCIO + S02 + H20  = С Г + S042- 

K2Cr20 7 + HC1 = CrCl3 + Cl2 + ...

Mn02 + KC103 + KOH = Mn042~ + СГ + ...

Mn(N03)2 + Pb02 + HNO3 = Mn04- + Pb2+ +

H2S + HCIO = H2S04 + HC1

NaJ03 + Na2S0 3 + H2S04 = J2 + S042- + ...

A1 + KC104 + H2S04 = A12(S04)3 + СГ + ... 

KMn04 + Zn + H2S04 = MnS04 + ZnS04 + 

Br2 + Cl2 + H20  = HBr03 + HC1 + ...

KCr02 + NaCIO + KOH = Cr042" + СГ + ... 

Cu + H2S 0 4(kohu) = CuS04 + S 0 2 + ...

NaJ03 + Na2S03 + H2S04 = J2 + S042 + ...

Билет 16 S02 + SnCl4 + H20  = Sn2+ + S042- + ...

Cu + HN0 3 (kohu) = Cu(N0 3 ) 2 + N 02 + ... 

KMn04 + K2S0 3 + KOH = K2Mn04 + K2S04



Билет 17 FeS04 + HN03 + H2S04 = Fe2(S04)3 + NO + . 

Mn02 + HC1 = MnCl2 + Cl2 + ...

KCr02 + Br2 + KOH = K2Cr04 + KBr + ...
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КСЮ + KJ + H2S04 = СГ + h  + ...

Mn(N03)2 + РЬ02 + HN03 = HMn04 + Pb(N03)2

AgN03 + Na2Sn02 + NaOH = Ag + Na2Sn03 + .

K2Cr20 7 + H2S + H2S04 = Cr3+ + S + ...

MnS04 + KC103 + KOH = K2Mn04 + KC1 + ...

P + HN03 + H20  = P043' + NO + .....

Cr2(S04)3 + Pb02 + KOH = Cr042- + Pb022~ + ... 

СгОз + HC1 = CrCl3 + Cl2 + ...

KBr + KM11O4 + H20  = Br2 + Mn02 + .........

NaJ03 + Na2S 0 3 + H2S04 = J2 + S042 + ...

KCr02 + Br2 + KOH = K2Cr04 + KBr + ...

Pb02 + HC1 = PbCl2 + Cl2 + ...

Hg + LiN03 + H2S 0 4 = Hg2+ + NO + ...

NaC103 + CrCl3 + NaOH = Na2Cr04 + NaCl + ... 

NaJ03 + S02 + H20  = H2S04 + NaJ

Pb02 + NaN02 + HC1 = N 03" + Pb2+ + ...

KMn04 + HBr = MnBr2 + Br2 + ...

CrCl3 + KBr03 + KOH = K2Cr04 + KBr + ...

HCIO + S 0 2 + H20  = СГ + S 0 42-

Hg + KN03 + H2S 0 4 = HgS04 + NO + ...

KCr02 + NaCIO + KOH = Cr042" + СГ +...


